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SECTION - A
I} General Awareness

From time to time, which among the & The headquatser of the Coflee Board

following organizations publishes of India is

repart ¢ | (8) Kolkata

(A} United Mations ‘ (€) Bengaluru

(C) UNICEF

D) WTO 7. Which state has maximum cerlified
area under organic farming 7

Whe has been awarded with Al ‘Ralasth

Qutstanding Service Award for his [E:I M:j':s a; R

service in Singapore 7 (5) hye Franes

(A) Anil Singhvi (C) Maharashtra

(B) Gopinath Pillal (D) Slkim

(C) Ranjit Chaudhari 8. India and which couniry finalised a

(07 Shiva Nayar draft pact on coastal shipping,
recantly 7

Who was honoured with Raj Kapoor (A) Sri Lanka

Life Time Contribution award by |

Maharashira government ? {g} gazgs;{ilﬁ'h

(A) Vidya Balan H Eiutan

(B) Katrina Kaif ‘

(C) Shashikala 9. Which movie has won maximum

(D) Sonali Kulkarmi a;:f;rgfv :;d IEh_? International Indian

VARUNA |= a naval combat exercise (A} Queen

between India and which country ? (B) Ek Villain

(A} USA (B8) France (C) Haider

(C) China 0y UK (D) PK

Who was awarded with the 10. Which state has been awarded best

prestigious Master Decnanath e-Panchayat state in 2015 on

Mangeshkar Award 20152 National Panchayati Raj Diwas 7

(A)  Anil Kapoor (A} Karnataka

(B) Sunil Shetty (8) Kerala

|:_':} Amitabh Bachchan :ﬂ}l Assam

(B) Amir Khan (D) Rajasthan
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14,

15.

To which Japanese automobile
company, India has become the top
global market both in terms of
volumes as well as revenues ?

(A) Yamaha
(B) Honda
(C} Suzuki
(D} Toyola

Recently, India has delivered three
Cheetal military choppers to which
neighbouring country 7

(A) Pakistan

(B} Bangladesh

(C) Afghanistan

(D) SnLanka

Which among the following industries
generates invisible exports 7

(A) Handicraft

(B) Jewellary

(C) Travel and Tourism
(D) Fishing

Which among of the following
missiles is called the Indian Patnot ?

(A) Nag
(B) Sagarika
(C) Trishul
(D) Akash

Which country in SAARC has the
highest GDP (PPF) per capita as per
Woarld Economic Qutlook Database,
April 2015 2

(A) Sri Lanka
(BY Maldives
(G) India

(D) Bhutan

T ——————— e R

JDD-62/Engg.-Electrical/X-15

16. Which of the following cities is known
as Electronic City of India 7

(A} Mumbai
(8} Bengaluru
(C) Hyderabad
(D) Gurgaon

17. Ms Bachandri Pal had underaken a
unigue expedition for focussing
atjention on which of the following
themes 7 '

(&) MNational Integration
(B} The Girl Child

(C) Spirt of Adventure

(D) One Nation One Family

18. Where is the National Remota
Sensing Agency situated 7
{A) Bengaluru
(B) Shadnagar
(G) Chennai

(D) Mumbai
[

19. The first underground railway in India
was opened in 1984 in

{A) Mumbal
(B) Cheannai
(C) Kolkata

{0} Bengaluru

20. Ashok Pandit is known for his
outstanding performance in which of
the following 7

(A) Wrestling
(B) Shooting
{C} Kabaddi
(D) Swimming
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ii} General Intelligence and Reasoning Ability

Find the odd numbar/letters from the given
alternativas.

(A) Swimming
(B) Sailing
{C} Diving
(D) Driving

(A) Discernmant
(B) Perceplion
(C) Penetration
(D) Insinuation

(A) 5720
(B) 6710
(C) 28640
(D) 4270

(A) 626
(B) 841
(C) 982
(D) 1090

if banana is apple, apple is grapes,
grapes is mango, mango is nuts, nuls
is guava, which of the following is a
yallow frust 7

(A) Mango (B) Guava

(C) Apple (D) Nuts

If cushion is called piliow, pillow is
called mat, mat is called bedshest
and bedshest is called cover, which
will be spread on the floor 7

(A} Cover

(B)
(C)
()

Bedshesat
iviat
Pillow

27.

28,

29,

31

If wall is called window, window is
called door, door s called floor, floor is
called roof and roof ks called ventilator,
what will a person stand on ?

{A) Window
(B) Wall
{C)} Floor
{D} Root

Il eraser is called box, box Is called

pancil, pencil is called sharpaner and |

sharpener is called bag, what will a
child write with 7

(A) Eraser

(B} Box

(C) Pencil

(D) Shampener

4,7.12,19.28, 7
(A) 49 (B] 36
(C) 30 (D) 38
B, 11,21, 36,56, 7

{A) o
(C) &

B) 515
(0) 42

10, 100, 200, 310, 7
(A) 430
(B) 420
(C) 410
(D) 400

8,28, 116, 584, 7
(A) 1752

(B)
(C)
(D)

3504

3508
3502
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36.

37.

Find the odd one out
{A) Sheep ; bleat
(B) Horsa : neigh
{C) Ass:grun

(D) Owl: hoot

Find the odd one out
(A) Door: Bang
(B) Piano: Play
(C) Drum :Beat
(D) Rain | Platter

Find the odd one out

(A) Ammeter | Current

(8) Hygrometar : Pressure

(C) Odometer: Speed

(D} Seismograph ;| Earthguakes

Find the odd one out
{A) Aphid : Paper
(B) Moth: Wool

(C) Termite : Wood
(D) Locust: Plam

While travelling in a train, you found that
sorme college students pulling the alam
chaln simply to gat down at their desired
point, you would (Selaect the most
appropniate atermative as the answer)
(A} Withthe help of other passengers
check them from do
(B) Letthemn pullthe chain but check
tham from detrain

(C) Inferm the guard of the train as
soon as |t stops

(D} Keep quiet and do nothing

38.

39.
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While going on a scooter, you find
somecne has been hurt by your
vahicle, you would (Selact the most
appropriate alternative as the answer)

(A) Try to run away from the spot
immediately

(B) Stop your vehicle and say 'l am
sorry'

(CY Take him to doctor and arrange

for his medical ald

(D) Paycompensation for the in]uri.r
and in this way

Your mald has Invited you to her

daughter's wedding. You would

(Select the most appropriate

alternative as the answer)

(A} Completely ignore her

(B) Attend the wedding

(C) Buy a gift for her daughter and
help in wedding

(D) Congratulate her and maka up
some excuse for not be

You are alone in the house and your
sister-in-law is suddenly experiencing
labour pains. You would (Select the
most appropriate alternative as the
answer)

(A} Getupsetand donot know what
is the right step

(B) Go out of the housa to call your
farnily doctor

(C) Take her to the nearest hospital
(D) Call an ambulance for

emergency
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iii) Arithmetical and Numerical Ability

3+334333+3.33="1
(A) 3623

(B) 37233

(C) 702.33

(D) 702

The least perfect square, which
is divisible by sach of 21, 36 and 66 is

(A) 213444 (B) 214344
(C) 214434 (D) 231444

Alent Rs. 5,000 to B for 2 years and
Rs 3,000 to C for 4 years on simple
interes! at the same rate of inlerest
and received Rs 2,200 in all from
both of them as interast. The rate of
intarest per annum is

(A) 9% (B)
C) 11% (D)
Find the simple interest on Rs. 7,000
at 50/3 % for @ months.

(A) Rs. 1,075

(B) Rs. 975

(C) Rs. B75

(D) Rs. 775

10%
12%

Find the simple interest on the
Rs. 2,000 al 25/4% per annum for
the period from 41" Feb. 2005 to 18™
April 2005

(A) Rs.25

(C) Rs.35

(B) Rs. 30
(D) Rs. 40

Sachin borrows Rs. 5,000 for 2 years
at 4% p.a. simple interest, He
immediately lands money o Rahul
at 25/4% p.a. for 2 years. Find the
gain of one year by Sachin,

(B) 111.50

(D) 113.50

(&) 110,50
(C) 112.50

47,

49.

50.

Eighleen years ago, a father was three
timas as old as his son. Now the father
is only twice as old as his son, Then
the sum of the present ages of the son
and the father is

(A} 102 (B8) 76
(C) 105 (D) 108

A person’s present age is two-fifth of

the age of his mother. Alter 8 years,
he will be ane-half of the age of his
mother. How old is the mother at
prasent 7

{A) 44 years

(B) 42 years

{C) 40 years

(D) 55years

Tanya's grandfather was 8 fimes
older to her 16 years ago. He would
be 3 times of har age B years from
now, Eight years ago, what was the
ratio of Tanya's age to that of her
grandfather ? By

(A) 16:11
(B} 11:53
(G} 47:30
(D} None of these

Four years ago, the father's age was
three times the age of his son. The
total of the ages of the father and the
son aftar four years, will be 64 years.
What is the father's age at present 7
(A) 35 years

(B) 36 years

(C) 46 years

(D) Neone of these

pn
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\ 51. How many 3-digit numbers can be £8. The ratio between the length and the

tormed from the digits 2, 3, 5, 6, 7 and
9, which are divisible by 5 and none
of the digits is repeated ?

(A) & (B) 10

{C) 15 (D) 20

In a group of 6 boys and 4 girls, four
children are to be selecta {d} In how
many different ways can they be
selected such that at leas! one boy
should be there 7

(A) 159 (B] 194

(C) 205 (D) 208

in how many ways a commiliee,
consisting of 5 men and & women can
ba formed from B men and 10 women ?
(A} 266

(B) 5040

(Cy 11760

(D) 86400

A box contains 2 white balls, 3 black
balls and 4 red balls. In how many
ways can 3 balls be drawn from the
box, if at least one black ball is 1o be
ncluded in the draw 7

(A} 32 (B) 48

(C) 64 (D} 96

One side of rectangular field is
15 meters and one of its diagonals is
17 metars. Then find the area of the
field

(A) 120 m® (B) 130me
(C) 140 m? (D) 150 m?

(D) 153800 m?

breadth of a rectangular park is 3 : 2.
if a man eycling along the boundary
of the park al the speed of 12 kmvhr
completes one round in B minutes,
then the area of the park (in sq. m)is
(A) 152600 me
(B) 153500 m?
{C) 153600 m?

The percentage increase in the area
of a reclangle, il each of its sides is

— o — i ]
ka

increased by 20% is
(A) 32% (B) 34%
(C) 42% (D) 44%

The area of a rectangle is 460 square
metres. If the length is 15% more than
the breadth, what is the breath of the '

rectangular field 7 :

(A) 18 meters
(B) 20melers
(C) 22 meters
(D) 25 meters® 1

[

Two dice are thrown simultanecusly.
The probability of getting the sum
2orB8ori2is

(A) 518 B) 718
(C) 736 (D) 5036

If two balanced dice are lossed once,
the probability of the event, that the
sum of the inlegers coming on the
upper sides of the two dice is 8, is

(A} 718 (B) 1/9

(C) &/38 (D) 1/8
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a8,

B0,

JDD-62/Engg.-Electrical/X-15

T STEAERR T o Ty 3 9EE
& FTE 3 : 2 B | 9% ueh ==fa 3w
wifte ) wiwEim & w2 12 kmihe T
H wfenfem %0 5w 50 8 ez
ek =Rt B, @ Iw wiE w deee
e o) 8

(&) 152600 m?

(B) 153500 m?

(C) 153600 m®

(D) 153800 m?

ﬂﬁﬁmﬁﬂﬁ?ﬁzu%ﬁm
ST B, T 36 EEEET W S AT
THAIHTEM 7
(A) 32%

(C) 42%

W T 1 SR 460 T Wi B | 9
T 98 H1EE | 15% ATUE R, 9139

(B) 34%
(D) 449%

MTIATRT e o) 912 R

(A) 18 =

(B) 207 Lo
(C) 22#=

(D) 257z

1 T T T T R 297 847 12
w1 g 3 F T

(A) 518 (B) 7/18
{C) 7/36 (D) &5/38
2l Fre{ferd W U AW I W1 E | 98
HTEE & fo i At B W e
quTfeRt 1 AIE 9 B E |

(A) 7/18 (B) 1/9
(C) 5436 D) 18

=



ﬁ JDD-62/Engg.-Electrical/X-15
iv) Test of Language : Hindi
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v) Test of Language : English

T TrTeOT @ ST

81-85: On the surface, the conquest of the
Aztec ampire by Herman Cortes is one of
tha most amazing military accomplishments
in history. With a small fighting force
numbering in the hundreds, Cortes lad the
Spanish explorers into victory against an
Aziec population that many believe topped
21 million. In light of such a seemingly
impossible victory, the obvious question is:
how did a small group of foreign fighters
manage to topple one of the world's
strongest, wealthiest and most successtul
military empires?

Seoveral factors led to Cortes’ success. First,
the Spanish exploited animaosity toward the
Aztecs among rival groups and convinced
thousands of locals to fight. In one account
of a battle, it is recorded that at least
200,000 natives fought with Cortes. Next,
the Spanish possessed superior military
equipment in the form of European
cannons, guns, and crossbows, leading to
affactive and efficient disposal of Aztac
defenses, For example, Spanish cannons
quickly defeated large Aztec walls that had
protected the empire against big and

legs technically advanced armies,
A.*

-16-

Despite the Spanish advantlages, the
Aztecs probably could have succeaded In
defending their capital city of Tenochtitian
had they levaraged their incredible
population base to increase lheir army's
size and ensured that no rogue cities would
ally with Cortes. In order to accomplish this
later goal, Aztec leader Motecuhzoma
neaded to send envoys to naighbouring
cities telling their inhabitants about the
harrors of Spanish conquest and the
inavitability of Spanish betrayal.

In addition, the Aztecs should have
exploited the fact that the battle was taking
place on their territory. No reason existed
for the Aztecs to consent o a conventional
battle, which heavily favoured the Spanish,
Motecuhzoma's forces should have ‘]ll'll:_!i.lghl
outside the box and allowed Cortes into the
city, only to subsequently use hundreds of
thousands of fighters to prevent escape and
proceed in surprise "door-to-door” combat.
With this type of battle, the Aztecs would
have largely thwarted Spanish
technological supremacy. However, in the
end, the superior weaponry of the Spanish,
the pent-up resentment of Aztec rivals, the
fallure of Aztec diplomacy and tha lack of
an unconventional Aztec war plan led to
one of the most surprising military outcomes
in the past one thousand years,
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81. Which of the {ollowing best 83. Accerding to the passage, all of the

characterizes the main peint the following led to Cortes success except

author is trying to convey in the (A) Advanced crossbows

passage 7

(A) Aztec failure to fight an (B) Local Spanish allies
unconventional war led lo an 1 (€} Nimble military force

unnecessary defeat (D) Local tribal friction

{B) Spanish victory was naither as S
::"Pmﬂfﬂ_""? GEE SE BTG a8 B4. The author implies which of the
sl it gl s giond following about the nature of Aztec

(C) Harman Cortes masterminded regional infiuence and power ? J

an amazing military _
accomplishment (A) Achieved with a non-traditiopal
(D) The myopic vision of the Aztecs military campaign
led to their unnecessary {B) Engenderad some anger
downfall (C) Achieved through alliances
82. The passage is sequentially (D) Based upon small yet swift and
organized in which of the following brutal military force
ways?
sources of the problem; offer a described as é
solution to the problem (A) Analytical
(B) Pose a question; offter an (B) Anger

answer to the question; offer an

: (C) Frustrated
alternative answer to the
question (D) Optimistic I
]
(C) Introduce a mystary; offer an Find the aror. .
axplanation for the mystery, :

86. (a) He will’ (b) ring him/ (c) formorrow/

fovide an altarnative
P (d) in the aftemoon,

axplanation for the mystery

(D) Introduce an enigma; explain (A) (a)
the reasons for the enigma; (B) (b)
discuss the inevitability of the ) (g
gnigma (D) (d)

Ax A7




87.

B9,

Which of the following sentence has
armor 7

(A) Noerror

(B) All the information that you want
(C) Inthis book

(D) You can gel

The Hubble Space Telescope will
search for planets around the stars, a
key to the _ axtra-terrestrial
lifa, and examine intarstellar dust and
gases oul of which stars are born.
(A) Perception

(B} Discovery

(C) Enquiry

(D) Quest

Order the sentence :-

S1: Hungary, with a population of
about 10 million, lies between
Czechoslovakia to the North and
Yugoslavia to the South.

P : Here a great deal of grain is grown.

Q: In recent years, however, progress
has been made also in the field of
industrialisation.

R : Most of this country consists of an
extremely fertile plain, through which
the river Danube llows.

5 : In addition to grain, the plain
produces potatoes, sugar, wine and
livestock.

56: The new industries derive mainly
from agricultural production,

The Proper sequence should be
(A) RPSQ (B) QRSP
(C) PRSQ (D) RQSP
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90. Synonymous of imminent
(A)  Impure
(B) Unsteady
(C) Proud
() Upcoming

Some parts of the sentences in the passage
below are left blank. Fill them with the best
altemativea. '

91-83 :- According 1o a survey conducted
in the US, a ‘geek dad’ Is a father who is
___{91) about technology ‘and
knowledgeable about the |atest
(92) Interastingly, an increasing number of
parents, especially fathers are tuming tech

savvy 1o (§3) with their children.
1. (A) Aware

(B) Interested

(C) Enthusiastic ‘

(D) Well read-

a2 (A) Innovations
(B} Developments
(C) Gadgets
(D) Games

83. (A) Gel
(B) Play
(C) Bond
(D) Enjoy




altermatives are given for the idiom/phrase

Halicised and underfined in the sentence.
Choose the alternative which bast

expresses the meaning of the idiom/phrase.

24

97,

Ai

This matter has bean hanging fire for
tha last many months and must
therefore be decided one way or the
other,

{A) going on slowly

(B) hotly debated

(C) shuckup

(D) ignored

In the armed forces, it is considered a
great privilege to dig in hamass.

(A) die on a horse back

(B) die in the battlefield

(C) die while still working

(D) die with honour

Antonymous of Obay
(A) Aftract

(B) Disobey

(C) Repsl

(D) Diffuse

Yaou can play with these kittens quiet

safaly

{A) These kittens can played with
quiet safaly

{B) These kittens can play with you
quiet safely

(C) These kittens can be played
with you quiet safely

(D) These kittens can be played
with guiet safely

-18-

100.
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Find tha wrong spelt word
(A) Passion

(B) Fashion

(C) Ration

(D) Tution

Today Wegener's theory is |
however, he died an cutsider treated
with by the scientific
establishment.

(A) unsupported - approval
(B) dismissed - contempl
{C) accepted - approbation

(D) unchallenged - disdain

The revolution in art has not lost its

steam; it on as flercely as

ever.

(A} trudges
(B} meanders
(C) edges

(D} rages




101.

102.

103.

104,

SECTION-B
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Post Specific Subject-Relaled Questions

The properly of a conductor due to
which it passes current is called

(A) Resistance
(B) Reluctance
{C) Conductance
(D) Inductance

The resistance of a conductor vanes
inversely as

(A) length

(B) area of cross-section
(C) temperature

(D) resistivity

With rise in lemperature the
resistance of pure metals

(A) increases
(B) decreasas

{C) first increases and
decreases

then

(0) remains constant

Three resistances of 10 Ohms,
B Ohms and 30 Ohms are
connected in parallel. The total
resistance of the combination is

(A) 5ohms

{B) 10 ohms
{C) 15chms
{D) 55chms

105.

106.-

107.

108,

An instrument which detects alectric
current is known as

(A) wvoltmatar

(B) rheostat

({C) watimeater

(D) galvanometer

In & circuit a 33 Ohm resislor carmes
a current of 2 A. The vollage across
the resistor is

(A) 33V -
(B) 66V
(C) 8oV
(D) 132V

A, light bulb draws 300 mA when the
voitage across il Is 240 V. The
resistance of the light bulb is

(A} 400 OChms
(B} 600 Ohms
(C) B00Ohms
(D) 1000 Ohms

(o

A current of 168 amperes divides
between two branches in parallel of
resistances 8 Ohms and 12 Ohms
respectively, The current in each
branch is

(A) 64A B9A
(B 6AA 9EA
(C) 46A 6.8A
(D} 46A 96A
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104,
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110,

111,

Two resislors are said to be connected
in series when

(A} same current passes In fum
through both

(B} both carry the same value of
curren

(C) total current equals the sum of
branch cuments

(D) sum of IR drops equals the
applied e.m.f.

Which of the following statements is
true both for a seres and a parallel
D.C. circuit ?

(A) Elements have individual

gurrants
(B) Currents are additive
(C) Voltages are additive

(D) Powers are additive

Kirchhoff's current law states that

(A} net current flow at the junction
is positive

(B} Hebraic sum of the currenis
meeting at the junction is zero

(C) nocurrent can leave the junction
without some current entering iL.

(D) total sum of currents meating at
the junction is zero

112.

113,

114,

115.
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According to Kirchhoff's voltage law,
the algebraic sum of all IR drops and
e.m.f.s in any closed loop of a network
is always

(A) negative
(B} positive
(C) determined by battery e.m.L.s

(D) zero

Kirchhoff's current law is applicable
18] ﬂﬂh’ |

(A} junction in a nebwork

(B} closed loops in a network
(CY electric circuits

(D) electronic circuits

Kirchhoff's voltage law is related to
{A) junction currents
(B) batierye.m.l.s
(©) IR drops

(D) both (B} and (C)

-

For maximum transfer of power,
internal resistance of the source
should be

(A) equal to load resistance

(B) less than the load resistance
(C) greater than the load resistance
(D) none of the above
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110,

111.
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113.

114.

115.
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117.

118.

If the energy is supplied from a
solurce, whose resistance is 1 Ohm,
o a load of 100 Ohms the source will
be

(A) avollage source
(B) acurrent source
({C}) both of above

(D} none of the above

The circult whose properties are
sama in either direction is known as

(A) unilateral circuit
(B) bilataral circuit
(C) Irreversible circuit

(D) reversible circuit

While calculating Rth in Thevenin's
theorem and Norton equivalent

(A} all independent sources are
made dead

(B} only current sources are made
dead

(Cy only voltage sources are made
dead

(D) all voltage and curment sources
are made dead

1189,

120,

121.
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The number of independent
equations to solve a netwaork is

aqual to
{A) the number of chords
(B} the number of branches

(C) sum of the number of branches
and chords

(D) sum ol number of branches,
chords and nodes

The superposition theorem requires
as many circuits to be scived as there
Hre

{A) sources, nodes and meshes
(B) sources and nodes
(C) sources :

(D) nodes”

Laminations of core are genarally
made of

(A) case lron
(B) carbon

(C) silicon steel

(D) stainless stesl
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123.

124.

ﬁ_i-

Which of the following could be
lamina-proximately the thickness of
laminations of a D.C. machine 7

(A) 0.005 mm
(B) 0.05mm
(C) 0.5m

(D) &m

The baarings used to support the rotor
shafts are generally

(A) ball bearings
(B) bush beanngs
(C} magnelic bearings

(D) neeadle bearings

In D.C. generalors, the cause of mpid
brush wear may be

{(A) severe sparking
(B} roughcommutator surface
(C) imperfect contact

(D} any of the above

125.

126,

127,
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In lap winding, the number of brushes
s always

(A) double the number of poles

{B) same as the number of poles
(C) hall the number of poles

(D) two

For a D.C. generator when the
number of poles and the n:‘.m'hnrnt
armature conductors s fixed, then
which winding will give the higher
a.mit ?

(A) Lap winding
(B) Wave winding
(C} Both (A)and (B}

(D) Depends on other featlre:
design

L.

In a four-pole D.C. maching
(A} allthe four poles areNorth poles

(B) alternate poles are Norh and
South

(C) allthe four poles are Sauth poles

(D) two North poles follow two
South polas
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122.

123.

124,
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125,

126.

127.
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128. Copper brushes in D.C. machine are
used

(A) where low voltage and high
currents are involved

(B) where high voltage and small
currants ane involved

(C} in both of the above cases

(D) innone of the above cases

128. A separately exciled generator as

compared to a self-excited generator

(A) is amenable o better vollage
control

(B) is more stable

(C} has . axciting current
independent of load ourrent

(D) has all above fealures

130. Iron losses in a D.C. machine are

independent of variations in
(A) speed

(B) load

(C) woitage

(D) speed and voltage

.lrsshemno’.oondprevlous—yﬁrﬁumlo

131.

132.

133.
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In D.C. generators, current to the
external circuil from armature is given
through

(A) commutator
(B) solid connection
(C) slip rings

(D) none of the above

Brushes of D.C. machines are made of
(A) carbon

(B) soft copper

(C) hard copper

(D) all of the above

&

If B is the flux density, | the length of
conductor and v the velogity of
conductor, then induced e.m.l. Is

given by
(A) Biv
(B) Bivi2
(C) Bl2v

(D) 2B
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138. For a D.C. machines laboratory

134. The material for commutator brushes
following type of D.C. supply will be

is genearally
(A} mica (A) rotary converner
(B) copper (B2, MG (v
(C) induction motor D.C. generalor
(G} ocastiron sal
(D) carbon (D) synchronous meter D.C.o

’ generator set

’

125. Theinsulating material used batwesan

the commutator segments is normally
138, The function of pole shoes in the case

(A) graphite of D.C. machine is
| (B) paper (A) 1o reduce the reluctance of the
(©) mica magnetic path

(B} tospread outthe flux lo achieve

(D) insulating vamish ;
uniform flux density

136. Welding generator will have (C) to support the field coil

(A} lap winding (D} to discharge all the gbove

functicns
(B) wave winding :
(C) delta winding _
140. In the case of lap winding resultant
(D) duplex wave winding pitch is

(A) mutltiplication of front and back

137. In case of D.C. machine winding, pitches

number of commutator segments
(B) division of front pilch by back

(AY number of armature coils pitch
(B} number of armature coil sides (C) sumof front and back pitches
(G) numberol armatiin.concuston (D) difference of front and back
(D) number of armature tums pitches

A#

/

]
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In a D.C. generator the critical
resistance can be increased by

(A)
(B} decreasing its field resistance
(C) Increasing its speed
(D) decreasing its speed

increasing its field resistance

The number of armature parallel
paths in a two-pole D.C. generator
having duplex lap winding is

Ay 2
(B) 4
(C) 6
(D) 8

Fmbummpﬂrﬂmuﬂndmm'm
are as many commutator bars as the
number of

(A) slots

(B) armatura conductors
(C) winding elements
(D) poles

The series field of a short-shunt D.C.
generator is excited by

(A) external curment
(B)
IC)
(0)

armatura current
shunt currant

load current

145.

1448,

147.

148.
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As a result of armature reaction, the
reduction in the total mutual air gap
flux in a D.C. generator is

approximately

(A) 40 percent
(B) 25 percent
(C)
(D) 5 percent

10 percent

MNo:load speed of which of the
following motor will be highest 7

(A) Shunt motor
(B) Series motor
(C) Cumulative compound mator
(D) Differential compound motor

The direction of rotation of a D.C.
saries motor can be changed by

(A) inferchanging supply terminals
(B8) interchanging field terminals
(C) Both (A) and (B)

(D) None of the above

Which of the following application
requires high starting torque 7

(A) Lathe machine
(B) Centrifugal pump
Locomative

Alr blower

(C)
(o)
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151.
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153.

If a D.C. motor is to be selected for
conveyors, which motor would be
prefarred 7

(A} Series motor
(B) Shunt motor
(C) Differential compound motor
() Cumulative compound motor

Which D.C. motor will be preferred for
machine tools ?

(A} Serles motor
iB) Shunt motor
(C) Cumulative compound motor
(D) Differantial compound molor

Ditferential compound D.C. motors
ean find applicalions requiring

(A) high starting torque
(B) low starting torque
{C) wvariable speed

(D}  freguent on-off cycles

Which D.C. motor is preferred for
elevalors 7

(A)  Shunt motor
(B) Series motor
(C) Differantial compound motor
(D) Cumulative compound motor

As the load is increased the speed of
D.C. shunt motor will

{A) reduce slightly

(B} Increase slightly

(C) Increase proportionately
(I remains unchanged

JDD-62/Engg.-Electrical/X-15

154, The armature torque of the D.C. shunt
motor is propartional to
(A) Tield flux only
(B) armature current only
{C) both (A) and (B)
(D) none of the above

165. Which of the following methods of
speed control of D.C. machine will |

ofter minimum efficiency 7

(A) Voltage control method
{(B) Field control method

(C) Armature control method
(D) Al the above methods

156. Which one of the following is not

necessarily the advantage of D.C.
motors over A.C. motors 7

(A} Low oost :
(B) Wida speed range A0
(C) Stability |

(D) High starting torque

157, ForaD.C. shunt motor if the excitation
ls changed
(A) torque will remain constant

(B} torque will change but power will
remain constant

(C) torgue and power both will
change

(D) torque, power and speed, all will
change
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158, Which motor has the poorest speed | 163.  Which motor should not be started on

control 7 no-load 7
(A} Ddfferentially compounded motor (A} Series motor
(B) Cumulatively compounded motor (B) Shuntmotor
©) Eh"{nt i (C) Cumulatively compounded
(D} Seres motor maotor
159. The plugaing gives the 8)] ?::;I:rm ntially compounded r

(A) zero torque braking

(B) smallest torque braking , '
(C) highest torque braking 164. Ward-Leonard control is basically a

(D) none of the above (A) vohage control method

(B) field divertor methad '
160. Which of tha following maotors one will \
mmmmwgrymmr? (C) field control method
{A} D.C.shunt motor (D) armature resistance control
(B) D.C.series motor method
(C) Universal motor

e T R ——

tov 165. For constanl torque drive which
Gl L i spead control method Is preferred 7
161. If the speed of a D.C. shunt motor is (A) Field control L >
wsﬂd.mahﬂﬂha.m.{.nfmnm (B) Amature '_I il
(A) Increase (C) Shuntarmature control !
(B) decrease (D) Mechanical loading system
(C) remain sama I
(D) become zero 166. InaD.C. generatorall of the following |
could be the effects of iron losses
162, Which of the following motors is most axcept |
suitable for signalling devices and (A) Loss of efficiency :
many kinds of timers 7 _
(A} D.C.shunt motor (B) Excessive heafing of core |
(B) D.C.series motor (C) Increase in terminal voltage !
(C) Induction motor (D) Rise in temperature of '
(D) Reluctance motor ventilating air
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170.

The losses occurring in a D.C.
generator are given below. Which
loss is likely to have highest
proportion al rated load of the
generator 7

{A} hysteresis loss

(B) field copper loss

(C) ammature copper loss
(D) eddy current loss

Which of the following loss in a D.C.
genarator varies significantly with the
load current 7

(A) Field copper loss
(8] Windage loss

(C) Armature copper loss
(D) None of the above

Which of the following does nol
change In a transformer 7

(A} Current

(B) Voltage

(C} Frequency
(D) Al of the above

In a transformer the energy Is
conveyed from primary to secondary

(A) through cooling coil

(B) through air
(C) by the flux
(D) none of the above

171,

172

173,

174,
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A transformer core is laminated to
(A) reduce hysteresis loss

(B] reduce eddy current losses
(C) reduce copper losses

(D) reduce all above losses

The degree of mechanical vibrations
produced by the laminations of a
transformer depends on

(A) tighiness of clamping
(B) gauge of laminations
(C) size of laminations
(D) all of the above

Siar/star lransformars work

satisfactorily when
(A) load is unbalanced only
(B) load is balanced only

(C) on balanced as well as
unbalanced loads

(D) none of the above

Delta/star transformer works

salisfactorily when
(A) load is balanced only
(B} load is unbalanced only

(C) on balanced as well as
unbalanced loads

(D) none of the above
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The maximum efficiency of a
distribution transformer is

{A) atnoload
(B} -at 50% full load
(C) at B0% full load
{D) at full load

Transformer breaths in when
(A} load on it increases
(BY load on it decreases
{C)
(o)

load remains constant
none of the above

No-load current of a transformear

(A} has high magnitude and low
power factor

(B) has high magnitude and high
powaer factor

has small magnitude and high
power factor

has small magnitude and low
powar factor

1)

=)

The purpose of providing iron core in
a step-up transfarmer is

(A) to provide coupling between
primary and secondary

(B) to increase the magnitude of
mutual fiux

(C) to decrease the magnitude of
mag-netizing currant

(D) to provide all above features

178.

180.

181,
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The power transformer s a constant
(A) voltage device

(B) current device

{C) power device

(D) main flux device

Two transformers operating in paralle!
will share the load depending upon
their

(A) leakage reactance
(B} perunit impedance
(C) efficiencias

(D) ratings

Which winding of the transformer has
less cross-sectional area 7

(A) Primary winding i
(B} Secondary winding

(C) Low voltage winding
(D) High voltage winding

Power transformers are generally
designed to have maximum efficiency
around

(A) no-load

(B) half-load

(C) near full-load
(D) 10% overload
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Ax

Which of the following is the main
advantage of an auto-transformer
over a two winding transformer 7

(A} Hysteresis losses are reduced
(B} Saving in winding malterial
(C) Copper losses ara neghgible

(D) Eddy lesses are letally
eliminated

When a given transformer is run
at its rated voltage but reduced

frequency, its

(A) flux density remains unaffected
(B) Iron losses are reduced

(C) core flux density is reduced

(D) core flux density is increased

In an actual transformer the iron loss
remains practically constant from
noload to fullload because

(A} wvalue of transtormation ratio
remains constant

(B} permmeability of transformer core
remains constant

(C) core flux remains practically
constant

(D) primary
constant

voltage remains

An ideal transformer will have
maximum efficiency al a load such that

(A} copper loss = iron loss
(B} copperloss < iron loss
(C) copper loss = iron loss
(D) none of the above

187.

188.

189,

190,

191.
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If the supply frequency to the
transformer is increased, the iron loss
will

(A) not change

(B) decrease

(C) increase

(D) any of the above

Negative vollage regulation Is
indicative that the load is

(A} capacitive only {
(B} " inductive only

(C) inductive or resistive

(D) none of the above

Iron loss of a transformer can be
measured by

(A) low power factor wattmeter
(B) unity power factor wattmeter
(C) frequency meter

(D) any type of wattmeter

The transformer laminations are
insulated from each other by

(A} mica strip
(B) thin coat of varnish

(C} paper
(D) any of the above

Normally, which of the following is
used, when a large-scale conversion
from A.C. to D.C, power is required 7

(A) Motor-generator set
(B} Motor converter
(C) Rotary converter
(D} Mercury arc rectifier
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185.

A

A rotary converter in general
construction and design, is more or
less like

(A) atransformer
(B} an induction motor
(C) analtemator
(D) any D.C. machine

A rotary converter operates ata
(A) low power factor

(B) high power factor

(C) zero power factor

(D) none of the above

In which of the following equipment
direct currant is neaded 7

(A) Talephones
(B) Relays

(C) Time switches
(D) Al of the above

In a rotary converter |2R losses as
compared to a D.C, generator of the
same size will be

{A) same

(B) less

{C) double
(D) three times

196,
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200.

JDD-62/Engg.-Electrical/X-15

In & mercury arc rectifier positive ions
are attracted towards

(4) anode
(B) cathods
{C) shell bottom
(D) mercury pool

By which of the following systems
electric power may be transmitted 7
(A) Owerhead system

(B8) -Underground system

(C) Both (A) and (B)

(D} Mone of the above

The underground system cannot be
operatad abova

(A) 440V
(B) 11KV
(C) 33KV
(D) 66 kV

£
Overhead system can be designed for
operation up to

(&) 11k
(B) 33 kV
(C) 88 kV
(D) 400 kV

Which of the following materials is not
used for transmission and distribution
of electrical power 7

(A) Copper
(B} Aluminlum
(C) Steel
(0} Tungstan




182.

183,

184,

195,

A

STTad] Ty 9% W w@eea ik
TATEE § T e S B

(A) TR
(B) TEHH A
(C) e
(D) &4t wef

A afafds o e @
(A) Fr= e wfdr ==

(B) F== foggn wfea v

(C) ¥a Tergge ity Wi

(D) el e

= 7 @ R Iy | WY wEw
WA BT & 7

(&) 2Rrem
(B) wEwm
(C) ZrEm T
(D) F et

vEe] aie & &t S A e

v qiEfAn g 12R aff g
(A) e

(B) M

(€} Fr

D) e

JDD-62/Engg.-Electrical/X-15

106, WA ST (o TR o ST ST T
TE AT B R

(A) uArE
(B) e
(C) Tl
(D) =i

197. Fm 4 8 fem vgle @ fmp vies =
s e S awa g 7

(A) S T
(B) s Taia
(C) (A)3 (B)EHI
(D) it = T

198,  fiTs vafa wE s W T
(A) 440V
(B) 11kV
(C) 33kV
(D) 66 kV

199, =HFW Y@ §6 4T 6% T4 A1
EE T 3
(A 11 kY
(B) 33KV
(C) 86 kv
(D) 400 kV

200, Towm wiEn & wammEo 3 faao &

o B # & wiE 3= = 3T
B g

(A) T

(B) TFgfREE
{C) THU™
(D) WA




14,

JDD-62/Engg.-Electrical/X-15

IMPORTANT INSTRUCTIONS TO CANDIDATES

FerfiEEl = e mevrget srgEw

. This booklel contalns 48 pages.

Please check all the pages of the Bookiet
carafully. In case of any defecl, please ask
the Invigilator for replacement of the Booklet.
Directions : Each guestion or incomplato
statemant |z lollowed by four allermalive
suggested angwers or complatons, In sach
casa, you are required 1o select the one that
carredtly answers the question or completes
tha statemeant and biacken (@) appropriaie
circla A, B, C or D by Blua/Black Ball-Point Pan
against the guestion concerned In the

iy
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Answer-Sheet. (For V.H. candidates (gfeanfiys sofraamt & foag dma Memen

corrgsponding circle will be blackened

by the p::ril:u} feefiras g vy feem )

hark your answer by shading the appropriates 14, TR T S HES w1 T

cirgle against each question. Tha crcle should T ﬁiﬂﬂ?mﬁﬁ%m

be shaded completely without lsaving any space. il 4 '

The comect mathod of shading is given below. Fameriore 2 o Wl ww A e
Matad || Wiory Muthoa || Gomact Mained Tem gl | mematn || oem el || et

e alteooloesnltens ok Telo) ()" YoXs] [e] Yo}s] (s Yo¥o

The Candidate must mark hisfher response STV 2 ST TR e e fen S s

after careful consideration. Fafegm wan =l |

Thera is only one corract answar 1o sach
question, You should blacken (@) the clrcla
of the appropriate column, viz.. A, B, Car D.
It you blacken (@) more than one circle
against any one guastion, the answer will ba
ireated as wrong. It you wish to cancel any
anawer, you should completely erase that black
mark in the circle in the Answer-Shoet, and
then blacken the cirole of revised response.

. A maching will read the coded information

in the OMRA Answear-Sheel. In case the
information s incompleta/differant from tha
information given in the application farm, tha
candidature of such candidats will be treatad
as cancelled,

. Use the space for rough work glvan in tha

Question Booklat only and nol an the
Answar-Shaat,

You area NOT required to mark your answers
in this Booklet. All answers musl ba
Indicated in the Answer-Sheet only,
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Go through Instructions given in Page No. 1 (Facing Page)




